Inter (Part-ll) 2016

Computer Science ~ PAPER: Il

Time: 20 Minutes| (OBJECTIVE TYPE) Marks: 17

Note: Four possible answers, A, B, C and D to each question

are given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.

(MS-ACCESS)

1-1-

2-

How many form layouts are provided by MS—Access
(2) 2 NOER?

(c) 6 " (d) 8

Which of the following is used to associate entities
with each other:

(2) Attributes (b) Relationship v

(c) Entities (d) Cardinals

What symbol indicates that you are editing a record:
(a) Pencil ¥ (b) Black arrow

(c) Key (d) Asterik

SQL stands for: ey

(2) Sort Query List (b) Self-Quantifying Language

(c) Structured Query Language v

(d) Sort Quantifying Language

Which of the follomng type of ﬁle requires longest
processing time:

(a) Seguential file ¥ (b) Random file

(c) Indexed sequential file
(d) Direct access file

A table must have:

(a) Composite key (b) Secondary key

(c) Sortkey (d) Primary key v

The goal of normalization is to:

(a) Increase redundancy (b) Increase inconsistency
(c) Get stable data structure ¥ (d) Increasing anomalies
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(C-Languag ¢)

8- A loop counter can be defined as:
(a) The final value of a loop
(b) A variable that counts loop iterations v
(¢) The initial value of a loop - : y
(d) The step value of a loop '
9- The first line of function definition is known as:
(a) Functionbody  (b) Function call
(¢) Function arguments (d) Function header Y
10- ~ Which programming structure makes-a comparison:
(a) Relational (b) Repetition |
() Sequencé - ~ (d) Decision v
11-  Aloop within a loop is called: |
(a) Nested loop Y (b) Complex Ioop
(¢) Runningloop  (d) Infinite loop.

12-  Variable and constant name cannot have a:
‘ (a) Number - (b) Underscore = '
(c) Period: ¥\ v jo(d) Letteriaw s dere it .
13- = The extension of C source programis: . . -
(a) .h " (b) .obj L

) txt e (d) eV
- 14-  Conditional operator takes: - i ;
(a) Oneoperand ~ (b) Two operand A g 9
(c) Three operand v (d)- Four operand ‘ :
15-°  Which escape sequence is used to. bcgm a new lme

(a) \n v (b) \m . IR ; - r
{c) \b g SSRGS T R R R
16-  Which of the followmg character is used to mark end
of a string: ' O EmiCL o
(a) \o ¥ C(b) o twaes bea widet £
e\ eude (d)\n et
17- " The function getch () is defined in: = - (2}
(@) Stdioh U (b) Coriol v o Teoy it

(c) Stringh " (d) Math.h"
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